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As we had in the previous chapter, this 779 begins with an observation about the nature of 7y and presents a series of areas of 12571 which share this
nature - to wit, when the 7717 commands that a set amount be given as consequence of battery and the like, this can be more lenient than if the
actual/virtual value of the person were to be paid (if the person is someone of great value); it can also be more severe, if that person were of lesser value.
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Note: 3 mwn invokes annx ATy and 1w 17 (see related verses below). Arny 1w is an ancestral field, belonging to the family as tribal land. If
someone sells his nnx 77w, it becomes 0 ATw”until the 511 at which point it reverts to the original owner. If someone is @771 his own
annx ATy, he may redeem it at the rate of 50 5pw per 7113 1172 — but this amount decreases by a ratio for each year closer to 52y, until 2 years
before 5av, at which time it goes back to the standard 50 5pw per 713 11723, Anyone else may redeem it and pay its value (+wnmn). In any case, if
the original owner doesn’t redeem it by 53, it goes to 0227371 1WA of that time (5771 of 52v). If someone sells mypn 77w (3 owner); it auto-
matically reverts to original owner at 52y, If the buyer is w71 his field, he — or anyone else - may redeem it at its value (no wpn).
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I x mwn:list of set payments in the N7 which can prove to be a leniency or stringency
a 27 whether he commits to the 71y of the most beautiful or most disgusting YR1v’ — gives 50 Ypw
1 Note: use of "oRW” suggests that our mwn is contra ™, who (2:X Mwn) allows for a "3 as “target” of Py
2 Defense: even n™ could agree; use of Y870’ as example teaches per 27: prohibited to say nr » IR NN
(a) Challenge: if so, should have taught o»1m1a My YR XY
(b) Answerl: xin wanted to keep entire mwn within one nation
(i) Challenge: ahead (7:), contrast YR7w2v MVPY NNV ANITH
(if) Answer: that's still one nation — %15 simply have more nn¥n
(c) Answer2: since the next ruling is re: n"nnR NT1w, which only applies to Y%7w’ — Rin mentioned 58w’
ii ~ However: if he says “%» vn1” —he pays the subjective value
b Other payments (detailed in next s23wm): redemption of MMINR NTY; TINN MY that kills a slave; 71 0w ®Rx MY NNan o1
II a2 mwn: explication of XIMN/®YP of MMINR DTV (see note)
a  Whether: he dedicates cheap, barely arable land or the finest orchard property, redeems @ 50 5pw per M3 n»a
i But:in mpn N7V (see note), he redeems it at its proper value, given the year within %av
ii  Dissent: 9ty9R 1 — both Nk n7w and Nipn N7V are redeemed@50 Ypw per M3 n*a
1 Difference: ntmr 07w has an extra wmn at redemption, unlike nipn nTv
I xnn27's ruling and the pursuant discussion:
a  a»7’71 if someone is wr1pn a field filled with trees, he must redeem the trees@value, then redeem field@50 5pw per 5”2
i Implication: ""y maintains that people intend a generous dedication when they are w*pn (> trees included)
ii  Challenge (77775 377): our mwn mentions fine orchards — at 50 Ypw per 2”2
1 Answer: the mwn is referring to lands that could raise orchards, but nothing is planted there yet
iii  Challenge: ®:7 127Y RNavIn — Y71 1’1 — only teaches that a grain field is included; vineyard, “woodyard” and or-
chard are included via "n7v” (i.e. even an orchard is redeemed @50 5pw per 3”1)
1 Answer: means that the orchard, as land, is redeemed @50, then he redeems the trees @value
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iv. Challenge: 2:7 2”2 Xnavin — if he had an orchard of 10 trees per nko ma (the proper amount) and was v*1pn 3 of
them, the land and (small) trees between them are considered wpn
1 Therefore: when he redeems, he redeems @50 5pw per M3 n’a
2 However: if more or fewer trees in that area (“abnormal” yvn) — neither land nor trees between them are w1pn
(a) Furthermore: if he was w'1pn the trees, then the land, redeems trees@value, then land@50 Ypw per 713 na
(b) Cannot: explain the 1+ case as redemption and then another (of trees), since Xa'v explicates this
3 Defense: this is authored by w", whose position is that one who is wTpn does so in a “miserly” fashion
(a) Proof: xn2 — if someone is w*7pn his field
(1) orpom: entire field is wTpn (i.e. N Pya v 1PN)
(ii) ®”r only grafted carob and sycamore stump (which would now be nurturing from w1pn nTv)
(b) challenge: can’t be w™; as he determines 1115 based on point of redemption, not “restore point” of wTpn
(i) proof: R — (AT ") W™ — if someone bought a field from his father and then was w»1pn, then his
father died - it is still deemed to be nnnr nTw (for purposes of 1119) i.e. 1718 determined at that point
1. dissent: n"1 — only considered niink nTw if he bought, then father died and only then he was v 1pn
2. pVOOfZ INNINR NTYN RY TWR IMPN NTY NR DR
(ii) therefore: he should allow the trees to be redeemed with the land even if he was w*Tpn trees first
1. assumption: n™ has support of verse; ("17) w1 must have position of 11778 nyws V1N
2. block (»7237): "1 W™ also read same verse for their position: could have said nnng 8% Twr
a. however: additional word nTw indicates that only a field that was never n& to be nnnx
IV x99 "v’s ruling and the subsequent discussion
a  if: he was w1pn unarable land (yw10) — he redeems it at value (not "y 1 n>a”)
i if hedidn’t redeem them - they still go to > at Yav (still "nTv”)
b if: he sold w1, they may be redeemed immediately (no need to wait 2 years) (no "mrian”)
i if he didn’t buy them back — they revert to him at 52y (still “nrinx% awvv”)
¢ if: he was w1pn trees — he redeems at value (not "yt n’a”)
1 question: why aren’t they wyTp with the land (>redeem at 50 Ypw per 5"2)?
2 proposal: perhaps only the trees are wiTp, not the land
3 however: >»y7im rule that if someone sells a tree, he owns land rights all the way down to bedrock
(a) answer: that ruling is only when the buyer makes such a claim; else, tree is independent of its land
ii  if he didn’t redeem them - they do not go to m»1n3 at Y2y (not "nTv”)
d  if: he sold trees — he may not buy them back before 2 years have elapsed (still “mxian nv”)
i if-he didn't redeem them, they don’t revert at Y2v (to owners) (not “nnnr”)
V  Analysis of dispute n'nan/x™ about redemption of mpn nTw
a  L:3 I NNODUT. DNRIN VS, IMPHYR " in interpretation and application of "noaona”:
i opom noan (value — as opposed to fixed amount of 50 Ypw per M3 n*1) is applied to nipn NTY
ii  #”7 reads awm::awm - both have set amount (50)
1 question: do vnan accept w1 and apply it to payment of wmn, or do they reject it outright?
2 N27 stands to reason that they reject it —
(a) reason: nmn explicated wnin in case of NMMNR NTY and M’2 W TPR D PTRON PR TIRD PRI PN 1Y
(i) and: even nmiv "1, who allows for 213 %W to inform, agrees where there are many (wnn) — 1 Pr
(b) support for 827 from &517773 (w/alternate argument): "19739N NVINL” — compares MNP NTY to P2
(i) just as: there is no additional wmn in Py
(i) so too: no additional wnin in redemption of nipn NTY
VI mwn: explication of X»p/vImn of 7vnn MW that killed a slave
a  whether: he called the finest of slaves or the grossest of slaves — pays 30 >0
i however: if the ox killed a freeman — pays his “value”
ii  and: if the ox damaged either slave or freeman — pays full damages
b observation: only 7m0 711 mentioned —
i inference: our mwn stands contra to ™, who rules that if a bn 1 hurts a person, he pays n5>» pn (from what re-
mains from the sale of the on)
ii  rejection: could follow Y™ as well; on 1w would be included in our mwn
1 however: since the 890 (beginning of 2" clause) mentions killing Tay or 11n-12, which only applies to ...
(a) background: difference of 30 vs. value only applies to Tvnn M
2 therefore: the Rin used TN NV
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